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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

It'f" denotes the ratio of the number of nuclei decayed (N ;) to the number of nuclei at t=(
(N;) then for a collection of radioactive nuclei, the rate of change of ’f" with respect to time is

given As!

[\ is the radioactive decay constant]
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In Young's double slit experiment, if the source of light changes from orange to blue then :
Options :

: the intensity of the minima will increase.

, the distance between consecutive fringes will increase.

2 the distance between consecutive fringes will decrease.

the central bright fringe will become a dark fringe.
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The relative permittivity of distilled water is 81. The velocity of light in it will be :
(Given p, =1)

Options:

, 3.33x107 m/s

107
, 433X10" m/s
, 5.33x107 m/s

, 2.33x107 m/s

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Qcollegeduniaé



S VA TIVE TR 81 1%, AME Y 4 . (ferer o p. =1).
Options :
. 3.33 %107 m/s

, 4.33x107 m/s
7
3 0:33x10” m/s

, 233x107 m/s

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

R=1000
. WW
100V T C=1uF

A capacitor of capacitance C=1 pF is suddenly connected to a battery of 100 volt through a
resistance R=100 (.. The time taken for the capacitor to be charged to get 50 Vis :

[Take In 2=0,69]
Options :
, 069x107 %5

, 0.30x107%s

3 1.44x10 4 s
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333x10"%s

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

R=100Q
N WW
100V+ T C=1pF

C=1 uF &1Ra 3 eRT 100 V Feiw R=100 ) YERRIR Toew Weet. & G 50 V
T JARG Fel R 98 e,

(& 102=069]
Options :

. 0.69%x10~4 s

, 0.30x10~4 s

; 1441074 s

4 333%x1074 s

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A 007 H inductor and a 12 () resistor are connected i series to a 220 V, 50 Hz ac source,

The approximate current in the circuit and the phase angle between current and source

22
voltage are respectively. [Take 7 as 7]

Qcollegedumag
India’s largest Student Review Platfors m



Options :

8.8 A and tan_l[%)

1.

0.88 A and tan~! [%)

2.

88 A and tan_1[ﬂ}
3. 6

1( 6
8.8 A and tan il
an [11)

4,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

200V, 50 Hz JTadh o1 ST 0.07 HYRS @ 12 071 e Wi wieed. IRGeiet 3l
I U A e e R G R A | e

[w=%ﬁm‘tm]

Options:

8.8 A 3T tan~! [%}

1.

0.88 A arfor tan_1[1—;)

2.
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88 A T tan‘l[%)

8.8 A 3T tan™! [%}

4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A light cylindrical vessel is kept on a horizontal surface. Area of base is A. A hole of cross-
sectional area‘a’ is made justat its bottom side. The minimum coefficient of friction necessary

to prevent sliding the vessel due to the impact force of the emerging liquid is (a << A) :

Options:
a
1. A
2a
2. A
A
3 2a
4. None of these
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In the given figure, a battery of emf E is connected across a conductor PQ of length I and

different area of cross-sections having radii r, and 1 (1, <,).

_|__

[

E K

Choose the correct option as one moves from P to Q :

Options :

: Drift velocity of electron increases.

» Electron current decreases.
3. Electric field decreases.

4 All of these

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two capacitors of capacities 2C and C are joined in parallel and charged up to potential V.
The battery is removed and the capacitor of capacity C is filled completely with a medium of

dielectric constant K. The potential difference across the capacitors will now be :

Options :
V
1. K
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the reported figure, a capacitor is formed by placing a compound dielectric between the
plates of parallel plate capacitor. The expression for the capacity of the said capacitor will

be : (Given area of plate=A)

IR

K| 3 5K
d- «2-e3d-
Options :
25 KED;_&&
1 6 d

15 KegA
, 34 d

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle starts executing simple harmonic motion (SHM) of amplitude ‘a” and total energy
E. Atany mstant, its kinetic energy is % then its displacement *y/ is given by ;

Options :

1. Qcollegeduniag
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

o= B
L2

y=2
2. 2

o 243
3. 2
2. 474
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical tennis balls each having mass ‘m" and charge ‘q" are suspended from a fixed
point by threads of length ‘T'. What is the equilibrium separation when each thread makes a
small angle ‘8" with the vertical ?

Options :

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In the reported figure, there is a cyclic process ABCDA on a sample of 1 mol of a diatomic

gas. The temperature of the gas during the process A — Band C - D are T; and T,
(T, > T,) respectively.

P

A

5P, -+

...................................

0"V, 15V, 35V, 55V, V

Choose the correct option out of the following for work done if processes BC and DA are
adiabatic.

Options :
. Wee+Wpa >0

, Was<Wep

3 Was=Wnpc

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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el T, 1 mol 2 fyaniba® aRfa IEY ABCDA R 99N Ugd o6, A - BT
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0"V, 15V, 35V, 55V, V

W BC T DA & Tgd TR 3TRa X Cehlena! deicdl BRI I WY fiae,

Options :

. WpctWpa >0

, Was<Wep
. Wap=Wpc
4 Wap=Wsc

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A body takes 4 min. to cool from 61°C to 59°C. If the temperature of the surroundings is
30°C, the time taken by the body to cool from 51°C to 49°Cis :

Options :

Qcollegedumag
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T ] 61°C TRT 59°C WA ofE Avarerd) 4 e . WX sadierd S9N 30°C e,
51°C WRET 49°C Wi 95 AV Hiferel et .

Options:

. 3 fafe
, 4 fafre
5 6 ffe

4 8 Tfe

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The number of molecules in one litre of an ideal gas at 300 K and 2 atmospheric pressure

with mean kinetic energy 2% 107 | per molecule is :
Options :

. 0.75x 1011
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T YIS TR T o 2x 100 ] 7 3 GO 3 SR 3Td argen 300 K
ol T forexael 0 9% e,

Options :
. 0.75x 1011
, 1.5% 1011
3. 310
4 6101

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Assertion A:  If A, B, C, D are four points on a semi-circular arc with centre at ‘0" such

—

that |AB| = ‘BC| = ‘CD , then

—_— — - - —3 —

AB + AC + AD = 4A0 + 0B + OC

Reason R:  Polygon law of vector addition yields

—_ = - - —

AB +BC + CD = AD =2A0

B C

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :
Both A and R are correct and R is the correct explanation of A.

5 Both A and R are correct but R is not the correct explanation of A.

3. A is correct but R is not correct.

4. A is not correct but R is correct.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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AB + BC + CD = AD = 2A0

el e, @l foeted Tl 3 SR e,

Options :

, AT RS SRIER 3MMEd 9 RE AT I WECIHIU] 3778,

, AR Q2 SRIEY Aed d RE AT IY WECIHRU el

3 A REX 318 TUT R SRTEY &L

4 A SRR A8 U07 R SRIER 38,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The figure shows two solid discs with radius R and r respectively. [f mass per unit area is
same for both, what is the ratio of MI of bigger disc around axis AB (which is L to the plane
of the disc and passing through its centre) to MI of smaller disc around one of its diameters

lying on its plane ? Given M is the mass of the larger disc. (MI stands for moment of inertia)

A

Options :
| 2RZ o

5 R2 : 12

3 OR% . 14

4 215 R%

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
1 2R2: 12

5 R2 . 2
3 2R%4: rd
4 2rt . R4

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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List- 1 List - II

(a) MIof the rod (length L, Mass M, about an axis L to therod (i) 8 ML%/3
passing through the midpoint)

(b) MIof the rod (length L, Mass 2M, about an axis L to the rod (i) ML2/3
passing through one of its end)

(©)  MIof the rod (length 2L, Mass M, about an axis L to the rod (i) ML%/12
passing through its midpoint)

(d) MIof the rod (length 2L, Mass 2M, about an axis L to the rod (iv) 2 ML?/3
passing through one of its end)

Choose the correct answer from the options given below :

Options :

;. (@)=(iii), (b)-(iv), (c)-(1), (d)-(ii)
,, @)-(iii), (b)-(iv), ()-(i1), (d)-(1)
5. (@)-(), (b)-(1), (0)-(iii), (d)-(iv)

5 (@)-(ii), (b)-(iii), (c)-(1), (d)-(iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

;. (@)(iii), (b)-(iv), (c)-(1), (d)-(ii)

, (@)-(iii), (b)-(iv), (c)-(i1), (d)-(1)
5, (@)-(), (b)-(1), (0)-(iii), (d)-(iv)

5, (@)-(i), (b)-(ii), (c)-(i), (d)-(iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tt - 11
i) 8MLY3

(i) ML%/3
(i) ML2/12

(iv) 2ML%/3
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Three objects A, Band C are kept in a straight line on a frictionless horizontal surface, The
masses of A, Band Care m, 2mand 2 m respectively. A moves towards B witha speed of
9m/s and makes an elastic collision withit. Thereafter B makes a completely inelastic collision

with C. All motions occur along same straight line, The final speed of Cis :

A B C
m| [2m| [2m

Options :

, 6m/s

, 3m/s
; 4m/s

. dm/s

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A, B &t C &1 T 3] Tl W SNUIRRa STea TOHIR Sal aed. A, B &t C
ﬁﬂjﬂﬂ\'ﬂ'ﬂﬁmﬂmwfmmﬂ. A9m/sWWBWWWHWW
CFR Y. TG B U0 TR (inelastic) C SRR TR . T Tl I Wb WA &
3. C 3 daed T 1 -

A B C
m| {2m| 2m
Options:
6m/s

1

, 3m/s

Qcollegedumag
India’s largest Student Review Platfors m



; 4m/s

g 9m/s

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A'ballis thrown up with a certain velocity so that it reaches a height h'. Find the ratio of the

h
two different times of the ball reaching 5 in both the directions.

Options :

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Assertion A:  If in five complete rotations of the circular scale, the distance travelled on

Reason R :

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

main scale of the screw gauge is 5 mm and there are 50 total divisions on

circular scale, then least count 1s 0.001 cm.

Least Count =

Total divisions on circular scale

Qcollegedumag
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: Both A and R are correct and R is the correct explanation of A.
5 Both A and R are correct and R is NOT the correct explanation of A.

A is correct but R is not correct.

w

A is not correct but R is correct.

N

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
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Suppose two planets (spherical in shape) of radii R and 2R, but mass M and 9 M respectively

have a centre to centre separation 8 R as shown in the figure. A satellite of mass ‘m’ is
projected from the surface of the planet of mass ‘M" directly towards the centre of the second

planet, The minimum speed ‘v’ required for the satellite to reach the surface of the second

planet is ﬂ% % then the value of ‘2" is .

[Given : The two planets are fixed in their position]

-
-

8R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a uniform magnetic field, the magnetic needle has a magnetic moment 9.85 X 10 -2 A/ m?

and moment of inertia 5% 10~ kg m®, If it performs 10 complete oscillations in 5 seconds
then the magnitude of the magnetic field is mT, [Take 7 as 9.83]

Response Type : Numeric

Evaluation Required For SA : Yes Qcollegeduniaé



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

TG J9aN 8, 9% A e v 985x1072 A/m? T e T

5100 kg m? 32, WK 5 Fha 10 3 T & N e 87 A mT
e, (T QTR [ mi=9.85 o ¥ |
(@ T TR TR T [ )

Response Type : Numeric

Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A stone of mass 20 g is projected from a rubber catapult of length 0.1 m and area of cross

section 106 m? stretched by an amount 0.04 m. The velocity of the projected stone is
m/s.

oung’s modulus of rubber=05x10° N/m?
8

Response Type : Numeric

Evaluation Required For SA : Yes
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Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

20 ¢ TR T8 0.1 m TN T 1070 m? PCWe &% fercdl VAR GRIawT Bebel
9 W 0.04 m 7 TR TR, el e m/s 9T¢.,

(Yo T A9 =0.5%10° N/m?)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A transistor 1s connected in common emitter circuit configuration, the collector supply voltage
is 10 V and the voltage drop across a resistor of 1000 € in the collector circuitis 0.6 V. If the
current gain factor (B) is 24, then the base currentis ~ pA. (Round off to the
Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Type : SA
Correct Marks : 4 Wrong Marks : 0

WIS Soaall TRTY HHIUI U Geeet e e, §arel [Rde] @eed 10 V 3l W1
TR 1000 () 18T Hed A 0.6 V 36, R ERT PIUIRT Sagd (B) 24 &€ TR U ERT

___________ WA 35, (e qUiETad)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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A prism of refractive index n, and another prism of refractive index n, are stuck together
(as shown in the figure). n, and n, depend on A, the wavelength of light, according to the

relation

-14 14
10.8><210 and 1y = 145 + 18x10
A

m =12+ Az

The wavelength for which rays incident at any angle on the interface BC pass through without
bending at that interface will be nm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A particle of mass 9.1x 107" kg travels in a medium with a speed of 106 m/s and a photon
of a radiation of linear momentum 10=% kg m/s travels in vacuum. The wavelength of

photon is times the wavelength of the particle.

Response Type : Numeric

Evaluation Required For SA : Yes A collegedunia



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
9.1 %103 ke TEGATEN FT110° m/s T MG Wl @ 102 kg m/'s Y W feferen

St BIc Frefei i, et e T U] A Taal .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A radioactive sample has an average life of 30 ms and is decaying, A capacitor of capacitance
200 pFis first charged and later connected with resistor ‘R, If the ratio of charge on capacitor
to the activity of radioactive sample is fixed with respect to time then the value of 'R’ should
be (L

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Qcollegedumaé
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Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

TP TEXUIAN! TR ST 6 30 ms 3T W ¥ & 3. Th HeA 200 uf
IRTE YW JAIR el F FR ‘R TIW weet, TR Al PR feuieER) T
0 T4 TORR SRR RR ST RN Y@ () el Tw,

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In Bohr's atomic model, the electron is assumed to revolve in a circular orbit of radius 0.5 A

If the speed of electron is 22 10° m/s, then the current associated with the electron will be

2
X102 mA. [Take 7 as 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1 Qcollegeduniag



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Teel ot givgmel, Foieei 0.5 A P agasR Ha W & 39 M9 9,
W e 97 22X 100 m/s €, T Teld HaH o] x10~2 mA 3.

2
7= ¥

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Consider an electrical circuit containing a two way switch'S', Initially S is open and then T,
is connected to Tz- As the current in R=6 () attains a maximum value of steady state level,
T, is disconnected from T, and immediately connected to Ty, Potential drop across r=3 ()
resistor immediately after T,isconnected to Tyis V. (Round off to the Nearest
Integer)

R=6Q T

[ 1

2, T3
SYT,
L

q |0

3()

Response Type : Numeric

Evaluation Required For SA : Yes chllegeduniag



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

foge fvwy T e Wl 'S fo 3R A &% . eae SUHE e d T8 T,
Wiee! a6, R=6 (7t o ey el Tt e el &, T, % T, N e @
o T, @ el deed T, & T, @ ecdriay r=3 () e 49 V4R,

(el QuieTae)

R=60 T

— 25
51T,
L

i D

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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The amplitude of upper and lower side bands of AM. wave where a carrier signal with

frequency 11.21 MHz, peak voltage 15 V is amplitude modulated by a 7.7 kHz sine wave of

a b a
5 V amplitude are 10V and ﬁ respectively. Then the value of b is .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
I ARaRi T 0 T 3 el STl ocdial W 2 AU Hendral qa

1121 MHz, B e 15 V 3T TRE 77 Kilz sine TR 5 V ST — ]0 10V

o . i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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Chemistry Section A

Section Id : 864351826
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 8643511053
Question Shuffling Allowed : Yes

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The parameters of the unit cell of a substance are a=25, b=3.0, c=40, a=90°, p=12(,

y=90°. The crystal system of the substance is :
Options:
1. Triclinic
Hexagonal
2.

3. Orthorhombic

4. Monoclinic

Question Type : MCQ Is Question Mandatory : No Qcollegedunias



Correct Marks : 4 Wrong Marks : 1
T Tepelie T8 Ter W a=25,b=30, c=40, a=%0°, p=120, y=90°. T e
TR AR .

Options :

| Traren

, YEHI
3 STARMEH

4, UPHICIE

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I :  Rutherford’s gold foil experiment cannot explain the line spectrum of

hydrogen atom,
Statement IT:  Bohr's model of hydrogen atom contradicts Heisenberg's uncertainty
principle.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
1. Both statement I and statement II are true.

, Both statement I and statement II are false.

3 Statement I is true but statement II is false.

Qcollegedumag
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4. Statement I is false but statement II is true.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el A g feereh o

M 1: g e Yune Sexmiea TR TR TN T R 3 T,
U 1: egiort A devdl vivgre! g afRana dem fdy S,

et eI S el WM A W e

Options :

, faam= 1 9 faum™ 11 S8 RIeR arme.

, faums 1 9 faum 11 381 9% amea.
faem 1 SRR 3 uor fdurE 11 9 o
3.

faur= 1 g arme qour faum= 11 sRER ams.
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For a reaction of order n, the unit of the rate constant is ;
Options :

. II‘lDll_n Ll—n S_]

, moll Il ng

Qcollegedumag
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3 moll —n LZII 5—1

4 mmll_" Ln—l S—]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

n DI AFA Tl ITHAIAET Tl ReRidd T e,

Options:

. moll npl—-ng—1
, smel R Rg

3 mmll —n LZn 5—1

4 m:}ll_" Ln—l S_]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II :

List - I List - II
(a) NaOH ()  Acidic
(b) Be(OH), (i) Basic
() Ca(OH), (i) Amphoteric
() B(OH),
(e) Al(OH),

Choose the most appropriate answer from the options given below :

Qcollegedumag
||||| 's largest Student Review Platform



Options :

;. (@)-(i), (b)-(), (c)-(i1), (d)-(ii1), (e)-(iii)

, (@)-(1), (b)-(ii), (¢)-(iii), (d)-(1), (e)-(iii)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AE — I, FEY — [ SRIER o

LICTE aret — 11
(a) NaOH (i)  STFALH
(b) Be(OH), (ii) ST
() Ca(OH), (i) SHILH
(d) B(OH),

(e) AL(OH),
Gellel G Ay SR fae

Options :

;. (@)-(ii), (b)-(), (c)-(ii), (d)-(iid), (e)-(iii)

, (@)-(i1), (b)-(ii), (c)-(iii), (d)-(1), (e)-(iii)

Qcollegedumag
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5, (@)-(11), (b)-(ii), (c)(iii), (d)-(ii), (e)-(iii)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The statement that is INCORRECT about Ellingham diagram is :

Options :
. provides idea about reduction of metal oxide.
5 provides idea about the reaction rate.

, provides idea about free energy change.

, provides idea about changes in the phases during the reaction.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gfei faaRigHiiiel gad A oo
Options :

| O Sfeegsn auud el e <.

, erf¥fehd=ar e e Tt <.

T Foll deeaaYl el <.
3 3
chllegeduniag



4 Jfufhdear Rerdt seemdddr Al <.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The procuct obtained from the electrolytic oxidation of acidified sulphate solutions, is :

Options :
, HO;S0S0,H

, HO,S080,H

HO,500S0,H
3.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gredlct Wethe STauTd e g el diet 3T TN BN T
.

Options :
HO,SOSO,H

1

, HO,5050,H

HO,500S0,H
3.

Qcollegedumag
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A:  Lithium halides are some what covalent in nature.
Reason R:  Lithium possess high polarisation capability.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

: Both A and R are true and R is the correct explanation of A
, Both Aand R are true but R is NOT the correct explanation of A

3 Ais true but R is false

4. Ais false but R is true

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gl G fagm fociel oTed Ue deM A 31T W HRU R oY foffeerel e
A M TTgey @ Bied Teaqy T 3.

R0 R forfremdl e awar T o,

e AR S, Welea! 4 T e
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Options :

. A 31T R G178 aRIeR 3Ted AT R & A< YT WCTBRUT B,

, AT R S8 IRIGR 3Ted WY R®, AT AR TGV FRA 1.
, ATRER 378 TG R oA e,

, ATPE A TRY R R AT

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The oxidation states of ‘P in H4P207, H4P205 and H4P206, respectively, are :

Options :

6, 4and5

, 5, 4and 3
, 5, 3and 4

, 7, 5and 6

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
P @ H,P,0,, H,P,0, 4 H,P,0, Aeier o afferrest fRerc ae.

Options:

Qcollegedumag
||||| 's largest Student Review Platform
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6, 4 amfor 5
, 5,4 3T 3
, 5,3 amr 4

, 7,5 3T 6

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The type of hybridisation and magnetic property of the complex [MnC16]3", respectively,
are

Options :

2o ;
. d“sp” and paramagnetic
312 . .
, Sp d© and diamagnetic
342 :
5 SP d© and paramagnetic

2 3 . .
N d“sp” and diamagnetic

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[MnCl [P~ Wiererrdl Wewurl §tr Jeaid Juede foR 9 I

Options :

Qcollegedumag
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| d2sp? Tty g
 sp3d2 oner g
 spd2 aner e
, d2sp? anfer yfrgaaT

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The number of geometrical isomers found in the metal complexes [PtCl,(NH,),|, [Ni(CO),],
[Ru(H,0),CL] and [CoCl,(NH,),]* respectively, are

Options :

A1, 14

, 20,22
. 21,24

21,22

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[PtCL(NH,)], [N(CO),], [Ru(H,0),CLy] 410 [CoCL,(NH,),|* & 87q WéleTmel e

Qcollegedumag
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Options :

A1, 14

, 2;0,2.2
. 21,81

,21,22

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which one of the following statements is NOT correct ?

Options :
, The dissolved oxygen concentration below 6 ppm inhibits fish growth

5 Eutrophication indicates that water body is polluted
2 Eutrophication leads to increase in the oxygen level in water

A Eutrophication leads to anaerobic conditions

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Grelled !l PO fIgr sRER A& ?

Options :

, T el 6 ppm TN Wrel fovEoicd S WA (fish) TE B T,

Qcollegedumag
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S e & FaASIdard .
, 3 B olad

, IR AIoAwilel SiffdRroTTe JmoT ared.

, IRMHHETS RIS TRRed ared.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one among the following chemical tests is used to distinguish monosaccharide from
disaccharide ?

Options :

1. Seliwanoff's test
, Barfoed test
3. Tollen’s test

4. lodine test

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TANGEYEE § SRS 190 We SEqWMe Qeiauel DI TERHG JrEul

TR Il ?

Options :

L LY £ Un
1. Nlcd-ithhdl diqUull Qco"egeduniag



, dRGIsdl grgol

, Clerqdl =raoh
4 JMARSIEA araon

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Staggered and eclipsed conformers of ethane are :

Options:

1. Rotamers
5 Mirror images
3. Enantiomers

A Polymers

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ST IR 0T TBUN A=

Options:

HELESS|

1. 3

, JTRYITAIS G

Qcollegedumag
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5. gfdfsesiod

4, g

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@

CH,

@ O, @
CHZ - CH CH3 = CHZ HCEC

A B C D

The correct order of stability of given carbocations is :
Options :

1. D>B>C>A

, A>C>B>D

, C>A>D>B

. D>B>A>C

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qcollegedumag
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CH,
@ ® ®
CHZ = CH CH3 - CHZ HCEC
A B C D
facrean dETderT=ar ReRdar WA H 3.
Options:

, D>B>C>A

, A »C>B>D

., C>A>D>B

. D>B>A>C

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Presence of which reagent will affect the reversibility of the following reaction, and change it

to a irreversible reaction :

i

Reversible

CH, +1; CHy -1 +Hl

Options :
1 Concentrated HIO3

, HOCI

3 qullld NH3 chllegeduniag



dilute HNO,
4,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
weitel AR B0 SRR IO TRUM &5 O S B,

h
CHy +1, W_CHg -1+H
Options :
g HIO,
1.

, HOCI

% NH,
3. :

faver HNO,
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following compounds will give orange precipitate when treated with
24-dinitrophenyl hydrazine ?

Options :

OI\
CH,
Qcollegeduniag
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2.
OH
OCH,CH,
5 O
O
{—on
4 OH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
DATTITAGITEC! Ergler Wed el B0 U6 g N T ey <ger’?

O
ki::H3

Options :

Qcollegedumag
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0
U KOCHP_CH3
OH
O;‘/ OCH,CHj
O
T

|
C—OH

3.

4, OH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H3PO4 A (BH3)2 > P
120°C (Major Product) HyO»/OH, HyO  (Major Product)

Consider the above reaction and identify the Product P :

Options:
CH; OH

Qcollegeduma



OH

OH

CH,
3. f
OH
f _LOH
4,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OH

H,PO BH
P04 .y (BHz)) . D

120°C (@ wam) Hy0,/OH, H,0  (v@ wema)

aRIel SfHfshaT ST T MU G P 3w

Options :

1.

Qcollegedumag
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G

X

3 OH

H

Oy OX

CH;

OH

On

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I:  Aniline is less basic than acetamide.

Statement I :  In aniline, the lone pair of electrons on nitrogen atom is delocalised over

benzene ring due to resonance and hence less available to a proton.

Choose the most appropriate option : @ﬁilﬁ%ﬁﬂlﬂf]liﬁ



Options :

1. Both statement I and statement II are true.
> Both statement I and statement II are false.
3 Statement I is true but statement II is false.

4. Statement I is false but statement II is true.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el 4 A foereh aed

fem 1 dftremeete afel 77 arerie o,

foem 11 afformel g e o R fofves g et Hiet s @
PCTEIC! P! TG k.

U T e

Options :

, fag= 1 9 faum 11 S8 SRR med.

, faem 19 faur 11 <8 g e,
faem [ sR1eR 3 uor faum 11 9% are.
3.

faur= 1 g e gt fagm 11 SRR are.
4.

Qcollegedumag
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II :

List - I List - II
(Drug) (Class of Drug)

(a) Furacin ()  Antibiotic

(b) Arsphenamine (ii) Tranquilizers

(c) Dimetone (i) Antiseptic

(d) Valium (iv) Synthetic antihistamines

Choose the most appropriate match :

Options:

;. (@)-(ii), (b)-(1), (c)-(v), (d)-(ii)
o @-(1), (b)-(iii), (c)-(iv), (d)-(i1)
5, (@)-(), (b)-(1), (0)-(iii), (d)-(iv)
5, (@)-(iid), (b)-(iv), (0)-(i), (d)-(1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qcollegedumag
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A — 1, A — [ SRER ool

argt — 1 argt — 11
(i) (i )
(a) IR () wfrofas
(b) SMAAMREA (i) YeTa®d
(c) SIHCH (it) gfeRTEN
(d) <=fersm (iv) Heeifta sifefeeam
WIead Irg 9ary fHaer
Options :

;. (@)-(iii), (b)-(), (c)-(v), (d)-(ii)
, (@)-(D), (b)-(iii), (c)-(v), (d)-(i1)
5. (@)-(i), (b)-(i), (c)-(ii1), (d)-(iv)

5 (@)-(iii), (b)-(iv), (c)-(ii), (d)-()

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qcollegedumag
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The compound ‘A’ is a complementary base of
Options:

1. Guanine
, Adenine

3 Cymame

4. Uracil

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0
H,C | N~ i
IF/KO
H

(A)
YT ‘A’ € DNA deAvERd IRRE iy

Options :

in DNA strands.

Qcollegedumag
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Chemistry Section B

Section Id:

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

864351827
4

Online
Mandatory
10

5

20

Yes

1
8643511054

Yes
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The density of NaOH solution s 1.2 g cm ™. The molality of this solution is

(Round off to the Nearest Integer|

[Use : Atomic masses: Na:230u O0:160u H:1.0u
Density of H,0: 1.0 g em™]

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

U@l NaOH =1 G0l &l 12 g em™> 31, &1 G0 Aefera

(e QUi
[ TR : & G :Na:230u O0:16.0u H:10w
T T 1.0 gcm™3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

m .

Qcollegedumaé
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¥
The difference between bond orders of CO and NO® is = where x=

2

off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

CO afn N0®maam@am§mmx= |

(STaose qurfepTa)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. (Round

Qcollegedumaé
.................................. .



For water at 100°C and 1 bar,

Avap H—Avap U= X1 J mol~L (Round off to the Nearest Integer)

[Use : R=831] mol 'K~ ]]

[Assume volume of HyO(l) is much smaller than volume of H,0(g). Assume H,0(g) can be
treated as an ideal gas|

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

100°C 3T 1 bar @ UAET!

A H-A U=___ x10%] mol ™! o, (Fwan quiam)

vap

[ W1 :R=831]mol ' K]
[ H,0() 3 3T H,0(g) & STeRAFIET §Y &1 e &% ol H,0(g) a1ee a1 &
3R T |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Qcollegedumag
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

146 g of a biopolymer dissolved in a 100 mL water at 300 K exerted an osmotic pressure of
242%107 bar,

The molar mass of the biopolymer i x10* g mol ™!, (Round off to the Nearest

Integer)
[Use : R=0.083 L bar mol~1 K~

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
146 g 7@ Wqgga® 100 mL T 300 K o foReiaet 3 e WK 376

242%1073 bar 4R,

VIGEaINaTd 7] TGN X10* g mol ™! &, (Feedn ‘IUTrEEﬂ)
[ a1 : R=0.083 L bar mol ! K]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

Qcollegeduniaé



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

PCl; = PCL+CL, K =184

3.0 moles of PCls is introduced in a 1L closed reaction vessel at 330 K. The number of moles
of PCly at equilibriumis _ x10~ 3, (Round off to the Nearest Integer)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
PCly = PCL+Cl, K =184

380 K o1 W& 1 L 93 afopdran ¥isemt 3.0 Wieq PCl o & Wreet. Hciienren PCL, o Hietl
e x1073 3. (Was uie)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0 .
W collegedunias



The conductivity of a weak acid HA of concentration 0,001 mol L™ is 20x10™Sem ™, If

A{;n(HA):1908{21‘112 mol™!, the ionization constant (K,) of HA is equal to

X108, (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0.001 mol L1 T®T &0 HA §Tweird! @l 20x107° S em~! 3. W
Ay (HA) =190 S cm? mol ™ T HA T 7 R (K ) x107° 3%, (oA
i)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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CO, gas adsorbs on charcoal following Freundlich adsorption isotherm. For a given amount
of charcoal, the mass of CO, adsorbed becomes 64 times when the pressure of CO, is doubled.
The value of n in the Freundlich isotherm equationis X 10-2 (Round off to the
Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

eierd T §HARY TEOIR . CO, I ARG i Fval dl foeren
ARSI IS CO, e eledrd FGAM 64 T B0 Weal CO, T @ JUE el
1 R 2 S o e ) R 2 D & ( | R o 2|

Q)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Qcollegedumaé
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The number of geometrical isomers possible in triamminetrinitrocobalt (If) is X and in

trioxalatochromate (III) is Y. Then the value of X+Y is .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

CARCRAGIeHe] () Wi i S s X o ot sradiesircpic

() 76l Y &, T X+Y @ e I,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
In gaseous triethyl amine the “~C~N-C-" bond angle is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

degree.

Qcollegedumaé
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Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
TS TS’ S Agd “~C-N-C—" §4®hH ° 3E.

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An organic compound is subjected to chlorination to get compound A using 5.0 g of chlorine.
When 0.5 g of compound A is reacted with AgNO, [Carius Method], the percentage of
chlorine in compound Ais _ when it forms 03349 g of AgCl. (Round off to the
Nearest Integer)

(Atomic masses of Ag and Cl are 107.87 and 35.5 respectively)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Qcollegedumaé
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

SO

TH1 Bl GG Tl axel W1 A 5.0 g TN G067 @R 8. 05 g 91 A 9
AgNO, (3% Tgr) TRIaR affan et &, 0.3849 g AgCl o TR Bl T W71 A 7efed
TR TRl 9T, (o ue)

(3] AR Ag 90T C1107.87 g/mol & 35.5 ¢/mol 3THH)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Mathematics Section A
SectionId: 864351828
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 8643511055

Question Shuffling Allowed : Yes
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let Pand Q be two distinct points on a circle which has center at C(2, 3) and which passes
through origin O. If OC is perpendicular to both the line segments CP and CQ, then the
set{P, Q} is equal to :

Options :

(2 +242, 3 +45), (2-242, 3 - 5))

, (2+242,3-45), (2-2v2,3 +5)}
{(—1,5), 5 1}

3.

, (4,0, (0, 6)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 94 ffg O et o anfhy (2, 3) s oo e P o Q 2 & e fig aea,

W OC @ Y CP a1 CQ T &@ 3R, T ¥ {P, Q) TN .

Options :

A(2+242,3+45), (2-242,3 - \5)]

, (2 +242,3-45), (2-242,3 +5)]

; (=15), 6, D)

Qcollegedumag
s e oot i .



, 1,0, 0, 6)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A A

—¥ A = A A A
leta=1i+j+2kand b =—-i +2j +3k. Then the vector product

(;+§)x ((;x ((;—g)x g))x E) is equal to :

Options :
A A A
: I\ —Bf + 7k

s M Y
5 05 =857k

A A A
2 a3 —JF +ak

A At M,
. ?(34:‘ ~5j +3k)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- A A A = A A A
Wl a =1+ +2k M b =i +2] +3k. T FT TR (vector product)

PP e N e e e

Options:

TR .

Qcollegedumag
s e oot i .



s M M
I\ —Bf + 7k

A, At M,
, ?(30:‘ —5j +7k

A A A
a3 —JF +ak

A At M,
?(34:‘ ~5j +3k)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

11 11
If the coefficients of 1 in (xz - bi] and 177 in [x - bl—z] ,b# 0, are equal, then the
. X X

value of b is equal to :

Options :
1. 1

Question Type : MCQ Is Question Mandatory : No

% collegedunia:
Correct Marks : 4 Wrong Marks : 1 Q ..... bl o



m( ] b#0,78 ¥/ mwwﬁw[x-—] Ael x 7 o TEHRIN e,

by

WhIT@ RN ___ &

Options :
1. = 1

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
If the area of the bounded region

sx=<2

R ={(x, y) :max{0, logx} < y < 2° %

is, a(log,2) " +p(log,2) +7, then the value of (a+p~ 2v)? is equal to :

Options :
1.1

Qcollegeduma



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

W R=1(x, y):max{), log,x} < y < 2F, = < x<2

TN & 470 (log,2) 1+ Bllog.2) +y 8, T (a+ B2y U A RN
IR,

Options :
1.1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A=

1 2 .
» J. If A‘l=aI+BA, o, peR, Tisa2x2identity matrix, then 4(a—p) is
equal to:
Options :

1. 2

2. 4

3 0
) Qcollegedumaé



w| oo

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wl A=

2
1 J- WA =al+BA, o, pe R, I & 2x2 T HERG TROY (identity

matrix) 312, T 4(a-p) TR I,
Options :
1. 2

2. 4

w| oo

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two tangents are drawn from the point (-1, 1) to the circle x*+ P-2r- oy+6=0. If
these tangents touch the circle at points A and B, and if D is a point on the circle such that
length of the segments AB and AD are equal, then the area of the triangle ABD is equal to:
Options :

1. 2

Qcollegedumag
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2. 4
5 (3V2 +2)

. 3(V2 -1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2+ -2v-6y+6=0 T TgaeT P(-1, 1) T RiguRE & Wi Foc ded. T A
TRl aaren g A i B & W9 Fam Aty o D g fig TR aE T 3 YES AB
it AD 7 sl T e, N B ABD ¥ & e .

Options :

1. 2

2. 4
, (342 +2)

. 32 -1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qcollegedumag
s e oot i .



Let C be the set of all complex numbers. Let
S,={z e C| |z—3-2i*=8},
S,={z e C| Re(z) =5} and

S,={zeC||z—Z|>8}

Then the number of elements in S; NS, N S; is equal to :

Options :
1. 0

.. Infinite

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T C & 94 A A 99 g,

A S;={z € C| |z—3-2i]>=8},
S,=1{z € C| Re(z)=5} o1

S,={zeC| |z —Z|>8}.

RS, NS, NS, ALl TeHA FE& TRIAR IS

Options :
1. 0

Qcollegedumag
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the plane passing through the point (-1, 0, —2) and perpendicular to each of the planes
2t+y-z=2and x-y-2=3 be ax+by+cz+8=0. Then the value of a+b+c s equal to:

Options :
1. 5

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WA (-1, 0, -2) 71 4G AT WION 3107 20-+y-2=2 10 x-y-2=3 1 T4 el i
FER el ar+by+cz+8=0 ¥R, Wathtcd el ENGH I,

Options:
1. 5

Qcollegedumag
.....



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e f—
T|—

Let , B be two roots of the equation x* + 20)¢ x + (52 = 0. Then o® + B8 is equal to'

Options :
., 100
2. 10

3 20

4 160

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=) AR o, p & < 0 AT, o} + pP I

e |—
FJ|—

WA 22 4+ ()

.

Options :
., 100

1+ )

> 10

Qcollegedumaé
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4 160

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: (—E; EJ — R be defined as

3a
|sinz|

(1+|siny) ,-=<x<0

flx)=" b ,x=0

b v e T
emt—h/mth i< y¢ =

I

If fis continuous at x =0, then the value of 6a +b? is equal to :

Options:
1 1+e

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qcollegedumaé
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B
Jsina

(1+ Jsinaf) ,—E <x<

f=] b =0

oot/ oty 0<x a2
|
g fREd o, WX f¥ x=0 W T A, T 6a+b 9 Y WK 9.
Options :
1 1+e
3.
4, €1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let

A={(x, y) e RXR | 262+ 2y2-2x -2y =1},

B={(x, y) e RXR | 4x*+ 4> —16y+7=0} and

C={(x, y) e RXR | x2+ 1> —dx -2y +5 < 12},

Then the minimum value of |r| such that A u B c Cisequal to:

Options : # collegedunia



B 4 10

, 1++/5

2 4-J10

3 +245

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Al

A={(v, 1) e RXR | 224+2y2-2x-2y=1},

B={(x, y) e RXR | 422+4y2 - 16y+7=0} S0

C={(x, y) € RXR | 24P -dx =2y +5 < 12}

W™ |1| ﬁﬁﬁﬂﬁﬂ@(nﬂxﬁmumvalue)ﬁlﬁ?ﬁ AUBCC W/ 3R

Options:

B 4 10
1, 2

L 1445

2+ 410
3. 2 chllegeduniaé



3+25

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the mean and variance of the fu]luwing data :

6, 10, 7,13, a,12, b, 12

37 : 7 .
are 9 and — respectively, then (a—b)= is equal to :

4
Options :

1. 16
2 12
3. 24

4. 32

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6,10,7,13, 2,12, b, 12 T STERW (date) ¥ HET SV T (variance) 3FTHH 9 4 %

g, T (a-b)> WK e,
Options :
1. 16

Qcollegedumag
.....



4, 32

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d
Let y=y(x) be solution of the differential equation log, {d_v} =3y + 4y, with y(0)=0.
X

2
If y[- 5 lOgQQJ = a log,2, then the value of « is equal to :

Options :
1

. 4

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qcollegedumaé
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d 0o [ &)
LLE loge[£J=Sx+4y,y(o)=O, T fided WS 60 y=y(x) M. W

y[— % logEQ] =olog,2, WaT ™ TR e

Options :

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
If sinf + cost = X then 16(sin(26) + cos(468) + sin(66)) is equal to :

Options:
1. 23

3 27

4. — 2 chllegeduniag



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

* 1
R sind +cosd = =, T 16(sin(26) +cos(4) +sin(60) ENEN e,

Options :
1. 23

2. =23
3, 27

4. —27

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The probability that a randomly selected 2-digit number belongs to the set {ne N : (2"~2) is

a multiple of 3} is equal to

Options :
1

1. 2

N
LI | =

WM

Qcollegedumaé
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&
O | =

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Wl (neN:(20-2) 83 =1 W 3 ) 1 Weameict Tgrewayn 2-aid! W faeel S

AT G TR e,

Options :

1

1. 2

N
WM G | =

O | =

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qcollegedumaé
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Aray of light through (2, 1) is reflected ata point P on the y-axis and then passes through the

1
point (5, 3). If this reflected ray is the directrix of an ellipse with eccentricity 3 and the

distance of the nearer focus from this directrix is & then the equation of the other directrix

can be ;
Options :
. 2x—7y—39=0 or 2x—-7y—7=0

11x+?y+8=0 or 11x+?y—15=0

2.

3 2x—?y+29=0 or 2x—?y—?=0
11x—?’y—8=0 or 11x+?y+15=0

4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BRI T FovT (2, 1) W oI o y-e7adir g P & Wi el 9y 7w (5,3) W

ﬁiﬂ%ﬁ W, W @ Wt fwo % Sebedl (eccentricity) 30T ﬁiﬁﬁ?{ (ellipse) Gk
(directrix) 372 &YT 21 SRR AT Fadier e % 312, T G ek e
I & T 7

Options :
| 2x—=7y—39=0 &1 2x-7y—7=0

Qcollegedumag
India’s largest Student Review Platfort m



, 1lx+7y+8=0fHdT 11x+7y—15=0
, 20=7y+29=0 f&ar 2x-7y-7=0

, 1x=7y—8=0fHdT 11x+7y+15=0

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The compound statement (P v Q) A (~P) = Q is equivalent to :

Options :

(=9

Z.PK\”Q

L FP=Q)& P A=Q

2 PVQ

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(PvQ)A(~P)=QE Mg fouH (compound statement) ol T (equivalent)
e,

Options :

= P=0Q)
p,
Qcollegedumag



Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Let f: R — R be a function such that f(2)=4 and f'(2)=1. Then, the value of

ey Aty
limM is equal to:
12 x-2

Options :
1.4

2. 8
5. 12

2. 16

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

W f:R— R & T el 9 08 @l f2) =490 () =1 W im 210~ 410) 4

12 r-12

R RS ' Qcollegeduniaé



Options :
1. 4

2. 8

3 12

4. 16

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R flhnli(2j—1)+8n+ 1
e value o nowen (2j — 1) + 4n 1s equal to :
Options :
5 + log, [EJ
1. 2
142 log., [—j
2.
2 —log, [E]
3. 3

Qcollegedumaé
s e oot i .



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 & (2j-1) +8n

lim — )
A E (27 —1) +dn * FT TR
Options :

3
5] =
1, Dge[z]

2.

2 — log, [E]
3. 3

2> +2 log, [E]
4. 3

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The value of the definite integral

ar

dx
J XCOSXY [oind 4.
_%(1+e ) (sin~x + cos"x)
is equal to :
Options :

1.

Qcollegedumaé
||||| 's largest Student Review Platform



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| dy

J (1+ &%) (sin'x + cos™y)

1

1 e Weereh (definite integral) 9T 7ed RIS

Qcollegedumag
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Mathematics Section B

Section Id : 864351829
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 8643511056
Question Shuffling Allowed : Yes

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let a plane P pass through the point (3, 7, —7) and contain the line,

=2 y-3 z+2
-3 2

. 1f distance of the plane P from the origin is d, then d? is equal to

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal Qﬁﬁl!ﬁ?..fﬂﬂﬂlff



Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
W (3,7, =7) T foged Om oo

Th el 8. W RN FOQugy et P ¥ 4R d 9, W o’ TR

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

sin®x
Let f(x)=|2 + sin®

sinzx

Then the maximum value of f(x) is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

1-=2_y-3_z+2

—2 4+ cos

1

cos2x
cos2x

1+ cos2x

T YVl W 9OR P 3

.

, x € [0, m].

Qcollegedumaé
.....



Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

sinzx —2-|-c052x c0s2x

T f(x) =2 + sy costx cos2x |, x €0, 7 W f() 4 B T

si112x coszx 1+ cos2x

(maximum value) SRR 9.

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let F: [3, 5] - R be a twice differentiable function on (3, 5) such that

Fr) = ¢~ j;(3t2 42t 4 4F (g,

ol -2n

If F(4
T

then a4 1S equal to ;

Response Type : Numeric ,
P yp Qcollegedumaé



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

WAl F:[3,5] - R & (3, 5) T e fdderd Bel (differentiable function) 318 o )

F(r) =™ E(m? F 2+ 4F(t)dt

= F(l)- aeP - 24
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Qcollegedumas
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- A A -+ A

N
Leta=i+j+kband c=j- k be three vectors such that a X b = ¢ and

5 - 5 =
a* b =1. Ifthe length of projection vector of the vector b on the vector a X ¢ is, then

the value of 3/ is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A A A = - =" Y -

W a=itithb aMc=j-k t oM ERT MIT B 2xp=c M

5 2 5 o :
a*b=1. axb Hﬁ?ﬂﬂﬂﬂﬂﬁmgWqﬂmﬂﬁ?ﬁ(projectionvector)ﬂﬁflalﬁ,

® 3 ¢ A RR IR,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Let the domain of the function

f(x) =logy (lﬂgs(lﬂgs (18x — 2% - 77))) be (a, b).

Then the value of the integral

J;b sin® x Py
(sin’x + sin®(a + b — x))

is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

W () = og, (log5(log3 152 -4 —77])] o T e (domain) (3, b) 9. W

g

sin
d
J;b(sin3:r +sin3(a+ b- ) ' W g ™ WR__ 9%

Response Type : Numeric

Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Qcollegedumaé
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Possible Answers :



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

, o7
If logs2, logs(2*~5), log, (23 = E] are in an arithmetic progression, then the value of x is

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

WX log,2, logy(2°-5), log3(2*' - g] ¢ oA 81 (AD) WU AMed, W x ¥ I WK

IR,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Qcollegedumas
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Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For real numbers « and B, consider the following system of linear equations :
Xty-2=2, x+2y+az=1, 2x-y+z=4.
If the system has infinite solutions, then a+p is equal to

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

o 3T B 1 TR GRS, el foeted Yo iR Yl faaR &R
Yty-z=2, x+2ytaz=1, 2t-y+z=P.
g e c O A R 4 AR R I R R R e,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Qcollegeduniaé



Let5={1,2,3,4,5,6,7). Then the number of possible functions f: S — S such that
f{mn) =f(m)f(n) for every m,n e Sand m-ne Sis equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
WAl S={1,2,3,4,5,6,7). T f:5—S @ T Bl (possible functions) TN, T

f(men) = f(m)f{n) TRF m, ne S TS A mene S, WK IE.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

It y=y(x), ]/{0; %) is the solution of the differential equation

sec y% - sin(y +y) - sin(x - y) = 0, with y(0) =0, then Sy’(gj is equal to .
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

S secm%—sin(x ) -sinx - y)=0 eI WA I y=y(x), Y € [0; g]
5 .

a1, il 4(0)=0 &%, 5y@ wWR_ W

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Let f: [0, 3] - Rbe defined by

f(x)=minfr—[x], 1+[x] -1}

where [x] is the greatest integer less than or equal fo x.

Let P denote the set containing all x € [0, 3] where fis discontinuous, and Q denote the set
containing all x € (0, 3) where fis not differentiable. Then the sum of number of elements in
PandQisequalto .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
T £:[0,3] - R,

f(x)=minfx-[x], 1+[x]-x} ERT WiTd R, W [2] § wEwH E[\UTTE <1 3R,

T P& xe [0, 3] WIGH SO 9 G 9 Ol f ¥ WA T (discontinuous|
311 Q & T x ¢ (0, 3) I YOI e S O e 2 foweriny et (not differentiable),
W P i Q 9w Tedi e T AR .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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